



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right) - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{11}{30}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{11}{16}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{25}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{6}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) = \frac{17}{20}$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{4}\right) = \left(-\frac{7}{20}\right)$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{4}\right) = \frac{55}{216}$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{49}{64}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{5} = \frac{6}{25}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{2} = \left(-\frac{109}{216}\right)$$

$$\left(\frac{1}{3}\right) - \frac{3}{4} = \left(-\frac{5}{12}\right)$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \left(-\frac{1}{3}\right)$$